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Ratio to CMS

=
o
w

=
o
N

=
(@)

=

=
<
[

1072

1073

[EEY

0.5

7000 GeV pp Z+Jet
:|_ T I T I T I I | I I I T I T | I T —|: 9
= : : =1
— Filtered jet mass (anti-k_(0.7), 220<p_<300, |y|<2.5) 33
B 1=
™
- s
— = A
— ds
| —
- <
- o
= _|®
— 3.2
— Hr
3 Eln
— — ™M
— — <
— — ™M
B P
o
™
= B CMS 32
~ —A— Pythia 6.428 370 15
— --4-- Pythia 6.428 371 ' s
_ --¥-- Pythia 6.428 372 —
- . Pythia 6.428 376 =5
- — 0
B 2
I - O
(@]
< PR U RS S =
S 8 342
- v A 3
- N "/!\\‘ ]
1
1 ¥ —~0.5
| 1 1 " 1 1 | " 1 1 1 " 1 " | " 1 " 1
0 50 100

(m_ 1+m_2)/2[GeV]



	Contents
	Page 1


